3anoMHU eJMHULBI U3MepeHus !

TUIMHBI
l1cm =10 mm
l1am=10cm
1am = 100 mm
I1m=10 gm
1M =100 cm
1M = 1000 mm
1 km =1000 m

1km = 10000 agm
1km= 100000 cm
1km= 1000000 mm

IJIO AN

1 cm2 =100 mm2

1 am2 =100 cm2

1 am2 = 10000 Mm2
1 m2 =100 gm2

1 m2 =10000 cm2

1 m2 =1000000 mm2
1 km2 = 1000000 m2
1a=100 m2

1 a=10000 gm2

1 a=1000000 cm2
lra=100a

1ra=10000 m2

MAaCChI

1kr=1000r
1y =100 Kkr
14 = 100000 r
1t=100L4

11 = 1000 Kr
11= 1000000 r

BPCMCHH

1 B. =100 net
1r.=12 mec
1r.=365(366 cyT)
1 mec = 30(31 cyT)
lcyt=244y
14=60 mMuH
14= 3600 ¢
1mMuMH=60cC

3anoMHu eIMHULBI U3MepeHus !

JVINHBI
l1cm =10 mm
l1am=10cm
1am = 100 mm
I1m=10 gm
1M =100 cm
1M = 1000 mm
1 km =1000 m

1km = 10000 agm
1km= 100000 cm
1km= 1000000 mm

IJIO A AN

1 cm2 =100 mm2

1 am2 =100 cm2

1 am2 = 10000 mm2
1 m2 =100 gm2

1 m2 =10000 cm2

1 m2 =1000000 mm2
1 km2 = 1000000 m2
1a=100 m2

1 a=10000 gam2

1 a=1000000 cm2
lra=100a

1 ra=10000 m2

MAaCChI

1kr=1000r
1y =100 Kkr
14 = 100000 r
1t=100L4

1T = 1000 Kr
1T= 1000000 r

BPEMCHH

1 B. =100 net
1r.=12 mec
1r.=365(366 cyT)
1 mec = 30(31 cyT)
lcyt=244y
14=60 mMuH
14= 3600 ¢
1mMuMH=60cC



